Events/ (1 GeV)

O 1 N W &~ 0 O N

OoON b~

I
BN

CI\/IS 138 fb* (13 TeV)

=
o
oL

T T T 1 | 1T T 7 | 1T T T | 1T T | 1T T T | 1T T 7 | 1T T T | 1T 1T T4
— (Spin-0) X - HY - yybb CATO _:
E my =650 GeV ¢ Data -
L My = 125Gev | S+B fit i
- My = 90 GeV E
= — B component J
: Bl +lo -
- +2 0 B
T ® -
— [ J o |0 —:
° ofn‘—'o_o ° o |||o|® °
ﬂlﬂ““ﬂlﬂlﬂ'nil-ll--—--—----—--..--vvvv"_ CEIY ey = E
~ 1T T T | 1T T 7 | L | 1T T | 1T T T | 1T T 7 | 1T T T | 1T T a
C # * i # B component subtracted 3
E L1 1 | I I | | I | | L1 1 1 | L1 1 1 | I I | | I | | L1 1 1 E
110 120 130 140 150 160 170 180
m,, [GeV]



	Contents
	Page 1


